

A Class of Combinatorial Identities

Daniela Roşca
Technical University of Cluj-Napoca
Dept. of Mathematics
str. Daicoviciu nr. 15
3400 Cluj-Napoca
Romania
e-mail: Daniela.Catinas@math.utcluj.ro

September 30, 2003

In [1] some combinatorial identities were used in order to prove that some matrices from the wavelet theory are triangularizable. Since these identities are interesting by their own, we present them here, together with their proof.

Proposition 1 *Let $p \in \mathbb{N}^*$. Then the following identities hold:*

$$\sum_{m=0}^p \binom{2p}{2m} \binom{k+m-1}{2p-1} = \binom{2k-1}{2p-1}, \quad k = 2p, 2p+1, \dots \quad (1)$$

$$\sum_{m=1}^p \binom{2p}{2m-1} \binom{k+m-2}{2p-1} = \binom{2k-2}{2p-1}, \quad k = 2p, 2p+1, \dots \quad (2)$$

$$\sum_{m=0}^p \binom{2p+1}{2m} \binom{k+m-1}{2p} = \binom{2k-1}{2p}, \quad k = 2p+1, 2p+2, \dots \quad (3)$$

$$\sum_{m=1}^{p+1} \binom{2p+1}{2m-1} \binom{k+m-2}{2p} = \binom{2k-2}{2p}, \quad k = 2p+1, 2p+2, \dots \quad (4)$$

Proof. We will prove only the first identity, since for the others the proofs work analogously. For this we show that the polynomials

$$\begin{aligned} P(x) &= \sum_{m=0}^p \binom{2p}{2m} (x+m-1)(x+m-2)\dots(x+m-(2p-1)) \text{ and} \\ Q(x) &= (2x-1)(2x-2)\dots(2x-(2p-1)), \end{aligned}$$

of degree $2p-1$, coincide. Then they will coincide at the points $k = 2p, 2p+1, \dots$, fact which proves the identity.

In order to prove that $P = Q$, we see first that the coefficient of x^{2p-1} in both P and Q is 2^{2p-1} . Then we prove that they have the same roots.

It is immediately that $P(j) = Q(j) = 0$ for $j = 1, 2, \dots, p-1$. So, it remains to prove that $P\left(\frac{2s-1}{2}\right) = 0$ for $s = 1, 2, \dots, p$. Denoting

$$R(x, t) = \sum_{m=0}^p \binom{2p}{2m} (x+m-1)(x+m-2)\dots(x+m-t), \text{ for } t \in \mathbb{N}^*, \quad (5)$$

we may write $R(x, 2p-1) = P(x)$.

Thus, we have to prove that $R\left(\frac{2s-1}{2}, 2p-1\right) = 0$, for $s = 1, 2, \dots, p$. For this, we write a recurrence formula as follows. First we easily deduce that

$$R(x, t) = R(x-1, t) + tR(x-1, t-1).$$

Then, by induction on n we immediately obtain

$$\begin{aligned} R(x, t) &= R(x-n, t) + \binom{n}{1}tR(x-n, t-1) + \binom{n}{2}t(t-1)R(x-n, t-2) + \dots \\ &\quad + \binom{n}{i}t(t-1)\dots(t-i+1)R(x-n, t-i) + \dots \\ &\quad + \binom{n}{n}t(t-1)\dots(t-n+1)R(x-n, t-n), \end{aligned} \quad (6)$$

for $1 \leq n < \min(x, t)$.

So $R(x, t)$ is combination of $R(x-n, t), R(x-n, t-1), \dots, R(x-n, t-n)$. Writing the relation (6) for $t = 2p-1, x = (2s-1)/2, s = 2, 3, \dots, p$ and $n = s-1$, we get

$$\begin{aligned} R\left(\frac{2s-1}{2}, 2p-1\right) &= R\left(\frac{1}{2}, 2p-1\right) + \binom{s-1}{1}(2p-1)R\left(\frac{1}{2}, 2p-2\right) + \\ &\quad + \binom{s-1}{2}(2p-1)(2p-2)R\left(\frac{1}{2}, 2p-3\right) + \dots \\ &\quad + \binom{s-1}{s-1}(2p-1)\dots(2p-s+1)R\left(\frac{1}{2}, 2p-s\right), \end{aligned} \quad (7)$$

for $s = 2, \dots, p$.

In order to have $R\left(\frac{2s-1}{2}, 2p-1\right) = 0$ for $s = 1, \dots, p$, it is enough to prove that

$$R\left(\frac{1}{2}, p+t\right) = 0 \text{ for } t = 0, 1, \dots, p-1.$$

Evaluating $R\left(\frac{1}{2}, p\right)$ we obtain, using formula (6),

$$\begin{aligned} R\left(\frac{1}{2}, p\right) &= \sum_{m=0}^p \binom{2p}{2m} \left(\frac{1}{2} + m - 1\right) \dots \left(\frac{1}{2} + m - p\right) \\ &= \frac{1}{2^p} \sum_{m=0}^p \binom{2p}{2m} (2m-1)(2m-3)\dots(2m-2p+1). \end{aligned}$$

Consider now the polynomial

$$H(x) = \sum_{m=0}^p \binom{2p}{2m} (2m-1)(2m-3)\dots(2m-2p+1)x^m.$$

A simple induction on m shows that

$$\frac{\binom{2p}{2m} (2m-1) \dots (2m-2p+1)}{(-1)^p (2p-1)!!} = (-1)^m \binom{p}{m}.$$

Thus, the polynomial H gets the expression

$$H(x) = \frac{1}{(-1)^p (2p-1)!!} \sum_{m=0}^p (-1)^m \binom{p}{m} x^m = \frac{(-1)^p}{(2p-1)!!} (1-x)^p,$$

whence $H(1) = H'(1) = \dots = H^{(p-1)}(1) = 0$.

In conclusion we have $0 = H(1) = 2^p R\left(\frac{1}{2}, p\right)$ and further, for $t = 1, 2, \dots, p-1$,

$$\begin{aligned} H^{(t)}(1) &= \sum_{m=t}^p \binom{2p}{2m} (2m-1)(2m-3) \dots (2m-2p+1) m(m-1) \dots (m-t+1) \\ &= \sum_{m=0}^p \binom{2p}{2m} (2m-1)(2m-3) \dots (2m-2p+1) m(m-1) \dots (m-t+1) \\ &= 0. \end{aligned}$$

Now, evaluating $R\left(\frac{1}{2}, p+t\right)$ from (5), it follows that

$$\begin{aligned} R\left(\frac{1}{2}, p+t\right) &= \frac{1}{2^{p+t}} \sum_{m=0}^p \binom{2p}{2m} (2m-1)(2m-3) \dots (2m-2p+1) \cdot \\ &\quad \cdot [(2m-2p-1) \dots (2m-2p-2t+1)] \\ &= \frac{1}{2^{p+t}} \sum_{m=0}^p \binom{2p}{2m} (2m-1)(2m-3) \dots (2m-2p+1) [a_0 + \\ &\quad a_1 m + a_2 m(m-1) + \dots + a_t m(m-1) \dots (m-t+1)] \\ &= \frac{1}{2^{p+t}} \left(a_0 H(1) + a_1 H'(1) + \dots + a_t H^{(t)}(1) \right) \\ &= 0, \end{aligned}$$

for $t = 1, \dots, p-1$. Using now (7), yields

$$R\left(\frac{2s-1}{2}, 2p-1\right) = 0 \text{ for } s = 1, \dots, p.$$

In conclusion the polynomials P and Q coincide, fact which proves the relation (1). Analogously we can prove the relations (2), (3) and (4). ■

References

- [1] D. Roşca, *Some sufficient conditions for the convergence of the cascade algorithm and for the continuity of the scaling function*, submitted.